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A bottle of salad dressing
holds 3000 millilitres.
A tablespoon holds 15
millilitres.
How many tablespoons
of dressing are in 1 bottle?
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A full jug holds 2 litres.
A full glass holds 1/4 of
a litre.

How many glasses full of
water would it take to
fill the jug?
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A potato weighs about
250g.
Roughly how much would
10 potatoes weigh?

How many times heavier
is 1kg of potatoes?
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Two shelves are 75 cm long
and 87 cm long.
What is there total length
in metres?

What is the difference in
length in centimetres?
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A family sets off to drive
524 miles.
After 267 miles they stop.

How much further do they 
have to go?
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Gran gave me £8 of my 
£10 birthday money.

What fraction of my 
birthday money did Gran 
give me?
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